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202 04| 3,373 2,708 665
01 2L HI 3,373 2,708 665
ORESYN HE SAK DT % 23X
& 22 0o 10,800 x4 Y 43| 3,373
401 AlEHIZL 2 0HY| 30,000 10,000 20,000
01 Al&H| 30,000 10,000 20,000
OQREAIIZAIE I 2 AFH 22l
30,000,000 13| 30,000
LEOZILE AIE &89 1,050 21,050 A 20,000
201 et d| 1,050 1,050 0
01 A2t 2| bl 1,050 1,050 0
osd44 1,050
— QENIEILE Al 22| 2d9A 3 3o &4
=G 70,000 x5H «33| 1,050
RE AZ 29 10,000 10,000 0
307 2iz2to| & 10,000 10,000 0
05 QIZ2tR E 2 10,000 10,000 0
OREAZ 2Y¢Y 10,000,000 10,000
HESHAH| (ol L=A04H) 86,094 78,918 7,176
Jl2Z 8l (o ¥a=4tDH) 86,094 78,918 7,176
Jl 23| (ol ¥4t} 86,094 78,918 7,176
201 LBt 9| 32,394 26,466 5,928
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2 ol e
SH

A
Mz HMSAAH| (o La=atDl)
Crol: D22l (Y4 AT CERED
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 AFR2 22l Yl 30,594 24,666 5,928
Oget=gH| 15,306
—JI2 MNRE3HI 100,000& *26H 2,600
—SANSKX 7Y 20,000& *20Ef A x 128 4,800
— Z2A X222 (EWH) 150,000 «10H 73] 1,050
— SAMI X2 (=) 330,000& *1CH*73l 2,310
— 4O MEZREH(EY) SX&aldl
237,000& *20H x4 3] 1,896
—JI23 AHl 150, 000& *13] 150
—ZtZely EY &€ 2372
1,000,000& *23] 2,000
— S A =481l 500,000& *13] 500
OZ2 &l 15,288
— o == A S 200 A HI
7,000& x26Y x73| x12& 15,288
02 35244l 1,800 1,800 0
O332=2 2 HA 1,800
— &%) dE =2 X23 50,000& x12& 600
—CANQ SHUIIA MIIAMESZ
100,000& = 12& 1,200
202 04| 49,920 48,672 1,248
01 2LHOHI 49,920 48,672 1,248
Ot bt HRFEX 2LHAYI
20,000 «26H x83| x 122 49,920
203 &R E= A bl 3,780 3,780 0
04 ENSIHRF=AY| 3,780 3,780 0
ORM2Y9 gRF=&XH| 350,000& *12& *90% 3,780
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